PXYXx

OFEX MOSLE

v =
HiTRR S
ae W xuie W vaie BRI E I
A1 : 35m (i 2 IN: NPN* 5:
|A2 P: PNP IN1: OPDIO24/16
A3 ICC: CC-Link (NPN) *!
A4 DN : DeviceNet P1: OPDIO24/17
— P PB: Proﬁbus% (PNP) =
1. CE i, ANBE NPN #A Ethernet. [EN: Ethernet*! [EN : Ethernet*"#3
*2. QER YC-LinEEE’\JEE’Sﬂ (Master) i Eo YC: YC-Link¥*2
X3 WAEHIER 1 IR T, RA%EE CC 5 DN 5 PB i, SIS HIEHF 2 AT EN.
— =1
m EF g n ZEE (kg)
X Y # Y 1712 (mm) XY2 8
AR - T4H 50 4.5
Dk AC (W) 60 30 100 45
RETHME™ (mm) 002 +0.02 ;gg ;2
] m Lt g RIRIEH (C10 ) RIRIZH (C10 &) 0 2
- e
- ﬁ‘éﬁ!!ﬁ%ﬂﬁ (iRiiEEL) (mm) 12 12 300 15
- BE#EE (mm/sec) 720 720
Zh{E5EE (mm) 150650 50300
HBABRGEKE (m) #RfE: 3.5 iEfL: 5,10
X1 AEEIT (RBAL L) SR EATRRE, B S LMUEE.
2. BHNRE M. 5
%3, X TRA 650mm B RIBER AR, £ HIURIRBATORIRIER (BIGEID) . W iE i8] E8
R, BB B TR EFCRIOR SR, B S MR TEE.
TR BITHE
RCX222 BFESEMBEGSIELEGS
e N
PXYx 2 %
# 250 (SEBHKE) 18543 X788
WRSOLLLE 395 545 45
[ 4.6
1 S
o
/ | i (90)
o = 3 2-03HT FE 6
| 2040.02
2 g 1
15 Q| @ s 62
N % ] E}E}e i 4-MAX0TRE 9 5
g ) | |
| | i
: 15 enoey e ICE
3 | 8 @ 82
= = el 1S . 7.6
V—m: Ini T A SREE Seimit
M= L g
&= ] T 2
i 53
68.5 X 1742 +183
L (X 1742 +254.5) N
-+H
b
1 —
w0 ) =
2 MY g 2 B = —g ¢
. -ENE ALER =
FriE AR R
M4X0.7 B
15mm BlE. 128.5 M x40
o 2 N-045 87, (B-B)
gl 45 B—>|
= T Q
s 333 :
g { e L S e S S o 4 o f]
B-B (RETLiEHH) B
X 1788 150 | 250 | 350 | 450 | 550 | 650 il EAEfIREBHEELLRERLSSIENME.
L 404.5|504.5|604.5|704.5(804.5|904.5
M 5 | 8 | 10| 13 | 15 | 18
N 12 | 18 | 22 | 28 | 32 | 38
YT | 50 [ 100 | 150 [ 200 | 250 | 300
e S22, X SR{TIRAIE 650mm B IRIBFHER AR, ATAES HIURHBFFHRIRR (BIRIER).
BTREEEET | XH 720 600 ™ Yot o AN R TR SRS, Y SRR R ;
(mmisec) EEIRE — 83%
N\ y,

190 ("o 395




s N
PXYx 2
£ 250 (SikE ) BfR 50 bLE 12243 X178
s (90) i Il e 45 545 395
% 35 = M4X0.7 IFF 6. 16
& ity [EOMTRES  t5mmbLE. W =
8 = <o ﬂ_,, /L §
= A-MAXO0.TRE 9 o1 45]] o
g 5 = i
ﬁ?ﬁ 62 g = ‘ :,)H%%
. 50 B (27 Nl
AR BB (EEAHMN) o Sk
arels 82 g
\ 8.2 H ©
7.6 S =
L 3 ; EEE
685 53 x{7ig+183
A L (X {7#2+254.5) (80)
b i g
. o o =
2 FETCRE
1285 Mx40
E;..ﬂ N-04.5 87 (B-B)
—
- S e . S O
B
\
(
PXYx 2 &
X178 1853 ) 250 (SIARYHKE) FifR 50 £
g (90) i AR A REZIE 145545 395
£ 35 . M4X0.7 BIHFK 8 6L 6
s 2-93H7 RE 6 15mm k. ]
= 20002 1
= o2
4-MAX0.7 RE 9 1145 o S et
3| I 2 3 J =
IS 5 |
A B0 BB (ZEAILHH W7 o
62 Hae g
50 N —————— P
fe0) 9131 oy Lo -
©|
\ 082 — 53 <
67.6 X {712+183 685
SEEHE A L (X {732 +254.5)
2 S
7 o] El.o
5 Emady 8 2
MX 40 1285
N-045387 (BB) A40L g ‘
orfEEE s ﬁ
L B
p
PXYx 2 &
X172 120143 49250 (BEBHKE) 90 ;%
o| 395 54545] R 50 HLE & 35 ) ul
b ] S| [ | LoSHTEES
. 1 = 4-MAX0T RE 9
g | g [
oo| Bl i —
2& : A HitHE
4> - |
e | ‘ AR R
> 238 ' M4X0.7 B 62
= | 15mm Bt 50
|95,
R
0 Bl I 2 P4 450 2[ gl
3 " ‘ o= %% g = \ 8.2
pa 53 7.6
X {772+183 Less p— _
(80) L(x {38 +2545) BB (REF ) SHmE
A
35 2 - 3
- 5783 = E‘
Mx40 1285
N-045387 (B-B) 0B |
T I EE T %%
S :
B
\ J
& PRI 5 A%

101

| RCX222 > 395 |






